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[ LT Sun ATUUN:
100D = 1004 =
3343 x 1002 = 4% 10° =
460.3 x 1002 = 1 x 1009 =
107 = 228 x 1001 =
8 x 107 = 2% 10 =
1002 = 9x 103 =
3x10% = 5% 100D =
3x10= 5412+ 1079 =
707.6 + 107 = 655.9 = 1002 =
100 = g x 1009 =
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ASLLUU:

1077 = 0.1 107 = 0.0001

334.3 x 100? = 3.343 4x10° =4

460.3 x 107 = 4.603 1x 1072 = 0.001
107 = 0.001 228 x 107V =228

8 x 1072 = 0.08 2% 10 =20

107% = 0.01 9 x 107 = 0.009

3 x 10% = 300 5x100Y =05

3 x 10 = 30 5412+ 107" = 5412
707.6 + 107 = 707600 655.9 + 107 = 65590
107 = 0.0001 8 x 107 = 0.0008
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